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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/9

y

0,40 experiment:
047 KR0,1s A
0,19

032  oin
0,44

experiment:
; BM 0,1s A

<

WA R

A%y 0
~

experiment:
; KRO,1s Y

g
S}

experiment:
; PO 0,1s B

TN520-7N_1

TN520-7N

TUB-test chart TN52; threshold dad@ramopolos (89)
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/9
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TUB-test chart TN52; threshold dataramopolos (89)  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 63cdatput: no change compared
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/9
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0,40 experiment:
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experiment:
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TN520-7N_3

TN520-7N

log AL

X

y
0,40 experiment:

047 poo,1sA
0,19

0,32
0,44

Lg=6.3c/n?

experiment:
; AD0,1s A

Lg=6.3c/n?

experiment:
; AD0,1s Y

Lg=6.3cd/nf
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y
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experiment:
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experiment:
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experiment:
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TUB-test chart TN52; threshold dataramopolos (89) _  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 6,3cdditput: no change compared
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/9

Lg=630cd/nt Lg=630cd/nt

. gz\"‘ =
T experiment: QY y T experiment: oo X y T experiment: X y T experiment: X y
KR 0,1s A LR 5 ] PO 0,1s A Q,«’ A 034 0,40 BM 0,1s R A 034 0,40 AD 0,1s R A 0,34 0,40
Y 0,45 0,47 1 Y 0,45 0,47 1 Y 0,45 0,47
0,15 0,19 0,15 0,19 0,15 0,19
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TUB-test chart TN52; threshold dataramopolos (89)  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 630cali
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 5/9

Lg=63cd/n?

Z";\'\§\

T experiment: XSy
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=3 -2 -1

0

T experiment:

AD0,1s A

é x=logL

T experiment:
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"
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0,15 0,19
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T experiment:
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é x=logL

T experiment:
BM 0,1s R

Lg=63cd/n?

T experiment:
AD 0,1s G

Lg=63cd/n?

Xy
A 0,34 0,40
Y 0,45 0,47

T experiment:

AD0,1s R

T experiment:

AD0,1s AY N
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TUB-test chart TN52; threshold dataramopolos (89)  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 63cdatput: no change compared
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/9

Lg=6,3cd/n? Lg=6,3cd/n? Lg=6,3cd/nf

T experiment: ! y T experiment: N T experiment: X y T experiment:
KR 0,1s A A 0,04 (40 PO 0,1s A A 0,34 0. BM 0,1s R A 0,34 0,40 AD0,1s R
Y 0,45 0,47 1 Y 0,45 0, 1 Y 0,45 0,47

0,15 0,19 0,15 O, 0,15 0,19

0,58 0,32 b 0,58 0,32

0,25 0,44 T T 0,25 0,44

é x=logL . : . - = . : . 2 x=logL

Lg=6,3cd/n? Lg=6.3cd/n? Lg=6.3cd/nf

T experiment: : y T experiment: : y T experiment: X y T experiment:
BM 0,1s A A 0,4 (40 AD 0,1s A A 0,34 C40 AD 0,1s G A u,34 0,40 AD0,1s A\Y
Y 0,45 0,47 1 Y 0,45 0,47 1 Y 0,45 0,47

0,15 0,19 0,15 0,19 0,15 0,19

0,58 0,32 0,58 0,32 0,58 0,32

0,25 0,44 T 0,25 0,44 T 0,25 0,44

Lg=6.3cd/nf

Y
A 0,87 €40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL : . : . 2 x=logL : . : . 2 x=logL

Lg=6,3cd/n? Lg=6.3cd/nf

T experiment: T experiment: T experiment: : y T experiment:
KRO,1s Y ) AD0,1s Y . ADO0,1sA P A 0,34 €40 AD0,1s A 5.
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: x=logL

Lg=63cd/nf

£ Yy
A 0,34 C40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

Lg=6,3cd/n? Lg=6.3cd/nf Lg=6.3cd/n?

T experiment: T experiment: T experiment: : T experiment:
PO 0,1s B : AD 0,1s B : AD 0,1s A,C A 34 KR 0,1s A,Y
Y 0,45
0,15
0,58

2: x=logL

Lg=63cd/nf

A 0,04
Y 0,45
0,15
0,58

-3 -2 -1 0 = = -3 -2 -1 2 Xx=logL
TN520-7N_6 TN520-8N_6 TN521-7N_6
TN520-7N

TUB-test chart TN52; threshold dataramopolos (89) _  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 6,3cdditput: no change compared
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 7/9

Lg=630cd/n?

experiment:

KR 0,1s A
9

experiment:

7 BMO,1sA
)

experiment:

7 KRO,1sY
)

experiment:

7 PO O0,1sB
)

TN520-7N_7

TN520-7N

TUB-test chart TN52; threshold dad@ramopolos (89)

experiment:

PO O0,1s A
9

Lg=630cd/nt

experiment:

; AD 0,1s A

TN520-4N_7

experiment:

7 ADO,1s Y
)

TN520-6N_7

experiment:

AD 0,1s B
9

TN520-8N_7

presentation time tp=0,1s, 4 observer

s, 3 repeats, 630ca(i

X

y
0,40 experiment:

047 BMo,1s R
0,19

0,32
0,44

Lg=630cd/nt

experiment:
; AD0,1s G

TN521-3N_7

experiment:
; AD0,1s A B

TNS521-5N_7

experiment:
G AD 0,1s A,G

input: w/rgb/cmyk —> rghy

experiment:
5 AD0,1s R

experiment:

TN521-4N_7

experiment:
; AD 0,1s AR

experiment:
. KR O,1s AY
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 8/9

Lg=63cd/n?

y

0,40 experiment:
047 KRO1SA S
0,19

0,32
0,44

NSNS M

Lg=63cd/n?

o

experiment:
4; KRO,1s Y

> ::
%

TN520-5N_8

Lg=63ca/n?

0,40 experiment:
047 poo,1sB
0,19

0,32
0,44

TN520-7N

X

Lg=63cd/n?

y
0,40 experiment:

047 poo1sA
0,19

0,32
0,44

Lg=63cd/n?

0,40 experiment:

0,47
4T ADO0ISA (&
0,19 NN

o

0,32 o
0,44 2

»
S

TN520-4N_8

X

-1 0
Lg=63cd/n?

y

0,40 experiment:

047 ADOISY ¥,
0,19 A
0,32 RO W

N -

TN520-6N_8

Lg=63cd/n?

0,40 experiment:

0,47 Ap0,1s B
0,19

032
0,44

TN520-8N_8

X

Lg=63cd/n?

y
0,40 experiment:

047 BMo,1s R
0,19

0,32
0,44

Lg=63cd/n?

0,40 experiment:

047 AD0,1sG
0,19

0,32

TN521-3N_8

Lg=63cd/n?

0,40 experiment:

047 AD 0,15 A,B\y

0,19 J
N

0,32 S

TN521-5N_8

Lg=63cd/n?

0,40 experiment:

0,47
A7 AD 0,15 A,G (%
0,19 NN

0,32 83
0,44 ¥

TN521-7N_8

X

y
0,40 experiment:

047 Ap 0,15 R
0,19

0,32
0,44

Lg=63cd/nf

q N
experiment: N

0,40
047 Ap0,1s AR

Lg=63cd/n?

q N
experiment: N

>
0,19 RO

<

0,32 S

TN521-6N_8

38
0,40 experiment:

047 KRO,1sAN¥S
0,19

Lg=63cd/n?
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TUB-test chart TN52; threshold dataramopolos (89)  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 63cdatput: no change compared
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Rttp://130.149.60.45/~farbmetrik/TN52/TNS2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 9/9

Lg=6,3cd/n?

y

0,40 experiment:
047 KR 0,15 A
0,19

0,32
0,44

Lg=6,3cd/n?

experiment:
; BM 0,1s A

Lg=6,3cd/n?

experiment:
; KRO,1s Y

Lg=6,3cd/n?

experiment:
; PO 0,1s B

TN520-7N

X

Lg=6,3cd/n?

y
0,40 experiment:

047 poo,1sA
0,19

0,32
0,44

Lg=6.3cd/n?

experiment:
; AD0,1s A

TN520-4N_9

Lg=6.3cd/nf

experiment:
; AD0,1s Y

TN520-6N_9

Lg=6.3cd/nf

experiment:
g AD 0,1s B

TN520-8N_9

X

y
0,40 experiment:

047 BMmo,1sR
0,19

0,32
0,44

Lg=6,3cd/nf

X

experiment:
; AD0,1s G

y
0,40 experiment:

047 Ap 0,15 R
0,19

0,32
0,44

Lg=6.3cd/nf

TNS521-3N_9

experiment:
; AD0,1s A B

experiment:
; AD 0,1s AY

Lg=6.3cd/nf

TN521-4N_9

Lg=6.3cd/nf

TN521-5N_9

experiment:
G AD 0,1s A,G

experiment:
; AD 0,1s AR

Lg=63cd/nf

Lg=6.3cd/n?

TN521-7N_9

experiment:
. KR O,1s AY

Lg=63cd/nf
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TUB-test chart TN52; threshold dataramopolos (89) _  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 6,3cdditput: no change compared




